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 Vectors be such that then is a 

unit vector. Find angle between . 
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If are such 

that is then find the value of 𝝀. 
(A)8     (B)6    (C)-6     (D)1 
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3 If be three vectors such that 

and find the angle between  
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Let be three vectors such that 
and each one of them being to the sum of the other 

two, find  
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5 
If , . find the angel between the 

vectors  
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7 If  𝒂⃗⃗ , 𝒃⃗⃗  𝒂𝒏𝒅 𝒄⃗  be unit vectors such that   𝒂⃗⃗ . 𝒃⃗⃗ = 𝒂⃗⃗ . 𝒄⃗ = 𝟎  

and the angle between 𝒃⃗⃗  𝒂𝒏𝒅 𝒄⃗   is   
𝛑

𝟔
  prove that  𝒂⃗⃗    = 

±2(𝒃⃗⃗  ×  𝒄⃗   ). 
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